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2 points

The projection of the vector 4i — 3j + k on the line passing through the |

2 points

The work done in moving an object along straight line from (3,2,—1) to (2, -

(¢) 10 unit (d) 15 unit
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(c) solenoidal
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The vector A = 3y*z?%i + 4x3z%] — 3x%y?k is
(a) source (b) sink
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C Xl 4) 2 points
ole 2 2
The vector V = —== isa
VxZ2+y?
(a) source vector (b) sink vector (¢) solenoidal vector
@
(b)
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No, the answer is incorrect.
Score: 0
Accepted Answers:
(b)
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The integral § E. dl = 0 ,if the electric field is caused by
(a) a time varying magnetic field (b) a static electric charge (c) both of

(d) none of these
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No, the answer is incorrect.
Score: 0
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Which one of the following is not a characteristic of magneto static field

(a) Itis conservative (b) Itis solenoidal (¢) Flux lines are always c

(d) Net magnetic flux through a closed surface is zero.
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No, the answer is incorrect.
Score: 0
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A sample of gold having magnetic susceptibility (y) —3.6 x 107> is placed
magnetizing field (H) of strength 60 x 103 A.turn/m. Find the mag

induction (B) within the sample.

(@) 0.05T (b)0.1T (c)0.075T (d) none of these.
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2 points
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A conductor of length 0.4m is moving with a speed of 5m/s perpendicula
magnetic field of 1 T.The emf induced across the conductor is
@1V (b)0.2V 02V (do.1v
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No, the answer is incorrect.
Score: 0
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The relative phase between the electric field and the magnetic field of an EM

in free space is

(a) 0° (b)180° (c) 45° (d) 90°
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No, the answer is incorrect.
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Accepted Answers:
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The quantity py€, has the dimensions of
(@)[L?T?] (b)[L72T?] (©))[LT™] (D)HIL™'T]
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